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AF in Sanger sequencing
AF * MEP2 | GAT1 | LST4 | GATl1 | YBRZIW VAC14 | MEP2 | GAT1 | RIM15 | LST4
(G3525)| (WB21L) (A335E)| (R35G)| (G261R)| (S4) | (G352A) (C331Y)| (Y66*) | (P270L)

MEP2
(e | 013 || 100 | 038 | -031| 075 | 071 | 096 | 097 | 0.88 | 095 | 094
GATL | 932 1.00 | 099 | 008 | 007 | 029 | 035 | -0.47 | -040 | -0.40
LST4 | 028 || Clonel | 100 | 013 | 0.12 | 022 | 028 | -041 | -033 | -0.33
GATL
(oase) | 019 100 | 097 | 064 | 061 | 039 | 058 | 053
YBR271W
o 017 100 | 057 | 056 | 033 | 0.51 | 0.46
VAC14
oy | 007 100 | 099 | 094 | 097 | 0.98
MEP2 lone2
(Gaszn) | 064 Clone 1.00 | 0.96 | 099 | 0.99
GAT1
sty | 039 1.00 | 097 | 0.98
RIMI5
ooy | 044 1.00 | 0.99
LST4 Clone3
Py | 044 T 1.00
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